4&@5%%“’ o)f Gusf,mlmﬂ Oésewodfmij
EXAM 42

25 Bcts be 2012 CHWC’>
C.’L Mz ’Vi virles allv‘w€4€> Slow YouR WORK

7, A 2D WW’#’M“H@I ‘\hM\r 1 seads omd 2 .5;,,(7@3.

’)L/g are aéjer‘/@(’wlﬁ M X)Y ave msi’aﬂﬁ+§. S‘w\&‘ (rhg W% f?uq{'\ﬁﬁ;f
w Matrix -Faym ag V+%A:£.

e Do NoT Sot_vg\
il e XY

b4 54 1 L
ra
3
4

‘fls A2 A 2.
5’9 5‘5 Q— 1
Go Hl 2 2

smmmmW, for s Seved
hetwork  on mabinis Som wn. Av = £,

(“—-—37" Pa’\"('s up HUB

3. Yon hawe made o LS adyustwe,d witn r=2 T=05 for L2 h2,3 |

4 o o ‘ 0.3
Wt{O’To MJQ7W(76+TW;4V=[0:2\X
PP

"'Ooé

S The 2~ scded W test 1ot W% s(«‘jom.fzc'mcc (oc) = 0,10

4, 0;,: 2., 0= 1, ke — 05
= 3K + 2X
A TP S
2" PR
W et 1s 0‘;-,: I

V\SQJCMQ —JC.,(,'("' 4 Y‘ = ny



Fram L. Soluhiss, 30 @(,m(—a/éﬁ\/)?,@,(’l_

| h=¢ ’fa} " ra {wl v
" My=3 \JC ? T . Y N \\5)(1.
| _‘(T:S Seale shifts : ‘—> \]11'
M3 \lx‘: — KXy —tx = -7K Vyi
=g Yy, — Ky =ty ¢ Ny,
. V)L,

o)

c ¢ o —
o ©

e T ] :
T e 4‘2‘3531.)0\":4”"25:1

w
%* VW" < [3 2 6|4 +1 = [9¢6 \)’<}}?VN Yo
‘i -6 r'ag"" =

0
0(.31;;,4 st = Xy = OO . )
TV~ %
&:_ ’)(}h
o r 8
Ll L
cv, = +/0 f ey = 599
Fable -5 ¥ table .05
lcdf 105 ?(»‘)L icdf ¢95
4. ~05= 33:"’; § Gz 20 Co8)=-l =2 Z = —1 ’ \\*54%! i (3

) e 3 VA :‘S:(w?-&_

" VJ [3 “ Z {" '][‘j' t]( '] [‘8 ‘ll 2= ‘s»(,w.xji txj)l= 3%, +3Xa
SR AR ) '] R R

Gy =D2F S - E 3]@ -:]E] =7

Gy = V27



